
1965. 12. 05. = 11
23 3 5

2

9
3

1
1

6

5

3

5 52



1965. 12. 05. = 1982
1962. 11. 09. = 1982

3964

4

12 10



1970. 12. 25. = 18
98 3 7

HÓ NAP ÉV

I. II.

III.

3 7 8

1 6

7

11/2 54

45

3627

36-9=27

I.   27-36     1 ciklus
II.  36-45     6 ciklus
III. 45-54     7 ciklus
IV. 54-H      11/2 ciklus

ç

ç

ç

ç

I.       HÓ + NAP
II.      NAP + ÉV
III.     I. + II.
IV.     HÓ + ÉV

ç

ç

ç

ç

IV.  V.   VI.



1962. 11. 09. = 20
29 2 9

HÓ NAP ÉV

I. II.

2 9 9

11/2 9

11/2

11/2 61

52

4334

I.   34-43      11/2
II.  43-52      9
III. 52-61      11/2
IV. 61-H       11/2

ç

ç

ç

ç

56 év

2018. 11. 09. = 13
2 2 9 4



1971. 10. 10. = 11
2

9
1 1

HÓ NAP ÉV

1 1 9

2 1

3

1 61

52

4334

I.   34-43      2
II.  43-52      1
III. 52-61      3
IV. 61-H       1

ç

ç

ç

ç

2018. 10. 10. = 4
2 1 1

10 8

2018
1971
    47 éves jelenleg 1-s ciklus 



1977. 07. 18. = 22
46

7 9

4

9

1
1

6

7

8

9

7

7 7

10 14



1961. 12. 18. = 20
28 3 9

HÓ NAP ÉV

3 9 8

3 8

11/2

11/2 61

52

4334

34-43        3
43-52        8
52-H        11/2

ç

ç

ç

2018. 12. 18. = 14    5
2 3 9

2018
1961
    57

11/2 ciklus 
ç

szem. év

57 év


